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Test statistic for normality: VIX
Chi-square(2) = 109.970 N(20.458,7.8019)
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Frequency distribution for VIX, obs 1-273
number of bins = 17, mean = 20.4578, sd = 7.80185

interval midpt frequency rel. cum.

< 11.966 10.420 21 7.69% 7.69% %%
11.966 - 15.058 13.512 55 20.15% 27.84% *Rwkkkkk
15.058 - 18.150 16.604 47 17.22% 45.05% Whhknw
18.150 - 21.242 19.696 43 15.75% 60.81% Wwwww
21.242 - 24.333 22.787 38 13.92% T74.73% whuwx
24.333 - 27.425 25.879 30 10.99% 85.71% ¥w*xw
27.425 - 30.517 28.971 16 5.86% 91.58% ww
30.517 - 33.609 32.063 9 3.30% 94.87% *
33.609 - 36.701 35,185 3 1.10% 95.97%
36.701 - 39.793 38.247 2 0.73% 96.70%
39.793 - 42.885 4]1.339 2 0.73% 97.44%
42.885 - 45.977 44.431 4 1.47% 98.90%
45.977 - 49.068 47.523 1 0.37% 99.27%
49.068 - 52.160 50.614 Ls] 0.00% 99.27%
52.160 - 55.252 53.706 1] 0.00% 99.27%
55.252 - 58.344 56.798 1 0.37% 99.63%

>= 58.344 59.890 1 0.37% 100.00%

Test for null hypothesis of normal distribution:
Chi-square(2) = 109.970 with p-value 0.00000




